




















































































































































































































































































































































































































































































































































































































































































In[ ]:= α = 0.01;

γ = 17.9 × 10-5;

d = 0.0001;

V =
α Pi d2

γ 4
Out[ ]= 4.3877 × 10

-7

In[ ]:= d2 = 6
V

Pi

1

3

Out[ ]= 0.00942785

In[ ]:= fx[v] = c Exp-m
v

2 kB T


Out[ ]= c ⅇ-
m v

2 kBT

In[ ]:= f[v] = 2 Pi v fx[v]2

Out[ ]= 2 c
2 ⅇ-

m v

kBT π v

In[ ]:= Integrate[f[v], {v, 0, ∞}]

Out[ ]=

2 c
2
kB

2 π T
2

m
2

if Re
m

kB T

 > 0
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